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énoncé

ABCDEFGH est un cube et I est le milieu de [AB].

H G

D C

A

I
Compléter les égalités vectorielles suivantes :
— —
Al +CD—Cl =F.
— —
AH +CD — F& = B..
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correction

Al+CD-CI
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correction

A+ CB- = A1+ B+ e
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correction

A+ CB- = A1+ B+ e
A+ 4+ D
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correction

A+ CB- = A1+ B+ e
A+ 4+ D
_ B
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correction

A+ CB- = A1+ B+ e
A+ 4+ D
_aB
R
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correction

AH +CD - FG
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correction

A+ CD — FC = AH + CD + GF
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correction

AP 48D - 7S = A1+ CB + G
3¢+ G+ it
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correction

AP 48D - 7S = A1+ CB + G
B¢+ G+ it

— BE
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correction

1?)—1—@—1—[%
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correction

FD + CB + DG = FD + DG + Ch
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correction

FD + CB + DG = FD + DG + Ch
— FG+CB
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correction

FD + CB + DG = FD + DG + Ch
— FG+CB

=0
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